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ENGLISH VERSION

Instructions
(1)  Figures to the right indicate marks of the questions.

(2) Necessary calculations will be treated as part of the answer.

1. Give answer as per instruction: 3

a) The ratio of vaniable cost to sales 1s given to be 60%, The BEP occurs at
80% sales.

Find out the sales when the fixed cost are Rs. 2,00,000. Determine
profit at 90% of sales and sales at a 60% margin of safety.

b) Find out cost of project and Net Present Value from the followings 5

Profitability index = 1.064
Present value of total cash flow = 182263.20

2. a) The comparative profit statement of two quarters: 7
Quarter-I Quarter-II
Unit sold 2,500 3,750
Direct Materials (Rs.)) 87,500 (N
Direct Wages (Rs.) 62,500 @)
Fixed and variable factory overheads (Rs.)) 75,000 95,000
Sales (Rs.) 2,75,000 (N
Profit (Rs) 50,000 | 66,260

In the second quarter, the Direct material price has increased by 20%.

There was a saving of Rs. 5000 in fixed overheads in the second quarter.
The other cost and selling price remained the same.

Determine the quantity that should have been sold in the second quarter
to maintain the same amount of profit per unit as in the first quarter. 7

RAN-0473 [5] [PT.O.]

http:/Awww.vnsguonline.com



b) A factory engaged in manufacturing plastic buckets 1s working to 40%
capacity and produces 10,000 buckets per annum.

The present cost break-up for one bucket is as under:

Material -

Labour cost -
Overheads -

Rs. 10

Rs. 3

Rs. 5 (60% fixed)
The selling price 1s Rs. 20 per bucket.

If it 1s decided to work the factory at 50% capacity, the selling price falls
by 3% and at 90% capacity, the selling price falls by 5% accompanied by a
similar fall in the price of material.

You are required to calculate the profit at 50% and 90% capacities and
also calculate Break-even points for the same capacity productions.

OR

From the following information, prepare statement of profit by using marginal

costing and absorption costing.

(Rs. 1.25 per unit)

Details Marginal | Absorption | Difference
cost cost
Rs. Rs. Rs.
Production cost (per unit) (7 40 (7
Opening stock 2.80.,000 (7 40,000
Closing stock (7 4.00,000 50,000
Administrative Expenses :-
Fixed (7) 1,50,000 -
Variable 1,00,000 (7 -
Selling and Distributing
Expenses:
Fixed 1,50,000 (7) -
Variable (7 50,000 -

Direct material, direct wages and variable production cost are in 3:2:2 ratio.
Direct wages per unit 1s Rs. 10 while sales price per unit is Rs. 60.
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3. Raj Ltd. 1s planning to indroduce a new product with a project life of 14
8 years. The project is to be set up in SEZ, qualifies for one time (at starting)
tax free subsidy from the state Govt. of Rs. 25,00,000 on capital investment.
Initial equipment cost will be Rs. 1.75 crores. Additional equipment costing
Rs. 12,50,000 will be purchased at the end of the third year from the cash
inflow of this year. At the end of 8 years, the original equipment will have
no resale value, but additional equipment can be sold for Rs. 1,25,000. A
working capital of Rs. 20,00,000 will be needed and it will be released at the
end of the eight year.

The sales volumes over eight years have been estimated as follows:

Year 1 2 3 4 3 6 7 8
Units | 72000 [ 108000 {260000|270000|270000 (180000 [ 180000 | 180000

A sales price of Rs. 120 per unit is expected and variable expenses will
amount to 60% of sales revenue. Fixed cash operating costs will amount
Rs. 18,00,000 per year. The loss of any year will be set off from the profit
of subsequent two years. The company is subject to 30% tax rate, and 12%
cost of capital (after tax) for this project. The company follows straight line
method of depreciation.

The PV factors at 12% are

Year 1 2 3 4 3 6 7 8
PVF 0.893 | 0.797 | 0.712 | 0.636 | 0.567 | 0.507 | 0.452 | 0.404

Calculate the NPV of the project and advise the management to take
appropriate decision.

OR

A Ltd. installed a machine with an estimated life of 5 years and used it 14
for three years. The initial cost including installation charges amounted

to Rs. 80 lakhs. According to current assessment, the machine can be used for
another four years. The company has just received an offer of Rs. 50 lakhs

for the machine. It 1s unlikely that a similar offer will be received in the near
future. The machine is used for manufacturing a product which has a falling
demand. Losses are anticipated over the next two year. Details of profitability
projection for the next four years are as follows.

RAN-0473 [7] [PT.O.]

http:/Awww.vnsguonline.com



At the end of year Present value
1 0.8696
2 0.7561
3 0.6574
4 0.5717
4. Write short notes. (Any three)
1) Marginal costing and Absorption costing.
2) Key factor
3) Capital Rationing
4) Discounted cash low methods
5) Productivity of Materials.
RAN-0473 | [ 8]

(Rs. Lakhs)

Years
1 2 3 4
Sales 50.00 45.00 40.00 35.00
Less: Variable cost 27.00 24.50 23.00 18.00
Fixed cost 8.00 7.50 6.50 6.00
Depreciation 16.00 16.00 - -
Net Profit / (Loss) (1) (3) 10.50 11.00

As the estimated working results are not very good and as the company
has got a very good offer for the machine, the managing director feels that the

machine should be sold immediately.

What 1s your advise to the managing director? Support your answer

with workings.

Cost of capital of the company 1s 15% Ignore tax.

Note : present value of rupee 1 at 15%.
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